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= 24,400
Al 396,402
NESEEL 62,681 60,260 2,421
101 @121l 20,222 19,743 479
04 JI2ZtH22XNHEE 20,222 19,743 479
OEXOISA S UHA 5,039
-Jl2= 60,2403 19 20 »3& 3,615
=54 60,240 x 1Y x 123 723
-Asssit=g 60,2403 »1H »3 181
-AEE J|&adE2g=2 4,519,000& *11.5% 520
OXNEINIZEZE Mt Iz H b 5,039
=23 60,2403 19 20! 3 & 3,615
=524 60,240 x 1 %12 723
-HAssSsiY 60,240 *1H 3 181
-AEE J|&28g=2 4,519,000& *11.5% 520
OEXNEZANEHE SIHEEYLR 10,144
23 60,2403 1Y 20 6 & 7,229
=54 60,240& x 1Y 253 1,506
s aIsotd 60,240 x 1 6 362
“AEE JI22E32 9,097,000& *11.5% 1,047
201 LEt2 Y| 39,579 38,357 1,222
01 At 22l Yl 37,187 35,971 1,216
O1.8t=2H| 33,200
-NEHRF=X J|Et=2H| 3,000,000 3,000
NHYLS =AD Y DRED ARE 7Y
3,000,000 3,000
-ANEMACTH HHE E52H 228 7€
2,000,000 2,000
-ANELRE SAMEXN 7L 3,000,000 3,000
S22 L EXNO0SZAM HEE(SRE
Z) 3,000,000 3,000
-SACRA 2H 222 & JELZ, XHE
AN 79 100,000& *123] 1,200
-NEIZ2ESH L2017 MEA=2HRE N Q|
4E) 18,000,000& 18,000
O3.2g9x¢ 420
ZREXNREIANE 2F4Y
70,000& x6H x13] 420
O4. 1012 4| 495
-2Z2Z2EX ZAME IS 495
A= 130,000& *3H 13| 390
OtN 3} 35,000 *3H x13] 105
O5.2 &l 3,072




2N
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L= B
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dTORE A
NN (ZELXNAHL/NHLEAI)

SEXX &L

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
T gexd NZA22h =4
8,000 x4H »8L x12& 3,072
02 22| 2,392 2,386 6
O1.ZBRSLHA 392
“ZRENSSYY MY 2B
1,960 200AH 392
O3. A& &H| S XYl 2,000
-XN&E=S=AH A2 500,000 x1CH x23] 1,000
-EZ2H&H SA &2 500,000 *1CH*x23] 1,000
202 o4 H] 2,880 2,160 720
01 2Ll 2,880 2,160 720
OEXOSEA & NEESEE A ZAFIAHY
60,0003 *4H *32 x4 3| 2,880
A28dES 72,912 59,009 13,903
101 e1214| 30,498 26,205 4,293
04 JI2tHIZ22XNSESES 30,498 26,205 4,293
OBSAAHe 2ol s 16,928
|23 60,240 +2H x20 L x5 12,048
-=5d 60,240& 2H x21= 2,531
-AXRaEIISE 60,240% x2H x5 603
A28 J|a8e=2 15,180,480& *11.5% 1,746
OXAMEX) L EXNHE A2HEH 13,570
-JE3 60,2403 2 x20 x4 & 9,639
-=5d 60,240& x2H x173 2,049
-A XRS5 60,240 *2H x4 482
A8 J|a8e=2 12,168,480 *11.5% 1,400
201 LBt 9| 19,072 18,688 384
01 AP 22| H| 19,072 18,688 384
O1.dBt=2H| 16,000
-XNELRFA J|E=2H| 9,000,000& 9,000
-XAEQIR TZ2IHI) ARE R
2,000,000& 2,000
-olxele 2AsX RUA(EXNUHE 2 78)
5,000,000& 5,000
O5. 24| 3,072
K& AR2Z=E A2 R 24!
8,000 x4H x82 x12& 3,072
202 044 2,880 2,880 0
01 2L Hl 2,880 2,880 0
OFsdzazHY g8sXE S0
60,000 *4H 3L x4 3| 2,880
301 et A= 20,462 11,236 9,226
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S g2doX A2 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
0B AR ER2IAL A= 15,462 11,236 4,226
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-Jl2= 405,669 x2H x12& 9,737
-3 Al H| 7,000 x2H x222 x12& 3,696
- S| 2,600 x2Hx22 x12& 1,373
-1l S H| 327,600 x2H 656
11 IIEtE A2 5,000 0 5,000
OFSMEEHN ADEAZ 5,000,000& 5,000
KN ETHEAAE<E X> 30,400 40,826 AN 10,426
2 24,400
Al 6,000
201 Bt A H| 30,400 40,826 N 10,426
= 24,400
Al 6,000
01 At 22l bl 30,400 40,826 AN 10,426
O1.28t=2H| 30,400
XN ETHEALAIS = &FH| 30,400, 000& 30,400
2 24,400
Al 6,000
INESPUEYN; 254,809 164,490 90,319
101 @121l 20,288 18,933 1,355
04 JI2ZtH 22 XNEE S 20,288 18,933 1,355
OXNEMEA SHHWBA EREEX 10,144
A= 60,2403 1Y 20 6 & 7,229
-4 60,2403 x1H *25=F 1,506
AR asEIISY 60,240& x 1 6 362
-AEE JI2R2E2 9,096,240& *11.5% 1,047
ONHASXH XEHS JREB=X 10, 144
-Jle3 60,2403 1Y %202 6 & 7,229
-F=54 60,240& x1H x253F 1,506
-HAsa3EIE 60,240 x1H 6 362
-AEE IR =2 9,096,240& *11.5% 1,047
201 Bt 226,821 132,857 93,964
01 At 22l bl 222,881 130,927 91,954
O1.28Bt4=2H| 214,482
-XI & EAF JIEF=SHI 3,000,000& 3,000
“XNETHEAIGRE N Y T =24 21
2 3,000,000& 3,000
SNETHEA EH &2 23 2
200,000& *6E *x23| 2,400
-NETHEAL EEZ2 M 5,000,000 5,000
-NETHEAI I3 32ANME A HE
500, 000& *23| x2J4 X| 2,000
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-NEHEAE SR AR E %%‘#%(ZJHIIQ)
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O4.101 54l 495
“KETHEA E MASXAHBEEAMY HEEE
g2 s+ 495
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O5.=2 &l 2,304
SNEWEAN LREX AAA2L2T SA
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O3. A& ZHl s Xt 1,000
-GPSE & Hl KA 2 500, 000& *2CH 1,000
202 oddl 2,700 2,700 0
01 = LH o4 1l 2,700 2,700 0
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401 Al HIZ 201 8] 5,000 10,000 A5,000
01 A& HI 5,000 10,000 A5,000
OXN&EgAEXE L E2F &X
5,000,000 » 14 5,000
S Al XIDJt2te] 149,839 156,710 A6,871
SAIXIDL 2el 149,839 156,710 A6,871
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OMES AKXt &l g3 20,286
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=5 60,2403 x2H x25F 3,012
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OMESAIXI IOt Harie ze] 18,808
-Jlg=s 60,2403 x 14 20 16,868
A2 JI22E3 16,868,000 *11.5% 1,940
201 Ypte G| 108,585 129,731 A21,146
01 At 2teltl 107,801 128,959 A 21,158
O1.d8 =84l 102,842
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Sl BelNo SHEASY CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
24 Bt 330& *4,00024 1,320
=P 1,960& 800 1,568
202 O4dl 12,600 10,800 1,800
01 = LH 4 Hi 12,600 10,800 1,800
OSEXZAYS =2 NI
60,0003 *6H 3 53| 5,400
OSgaelgd:R =&
60,0003 *8H 3 53| 7,200
COASRNSE(ASEX /0l - HAH) 1,298,321 1,212,595 85,726
= 106,750
< 192,564
Al 999,007
EelEEDADNE-! 1,298,321 1,212,595 85,726
= 106,750
< 192,564
Al 999,007
ColuaMET R 16,700 14,750 1,950
201 Let24E] 1,050 1,100 AB0
01 At 22l 1,050 1,100 A50
O1.det=2Hl 1,050
-HHOlY RAESHEQ JtIoE 2
5,000& *210H 1,050
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
OMEo BZ2A8S Mz 7€ 5,000,000& 5,000
301 et a = 10,650 8,650 2,000
09 &AL HI B &S 10,650 8,650 2,000
OZ2g SAE2s A&
10,000& *75H x10& 7,500
ORIESI ol MASE 29
15,0002 210 3,150
ZZAIERE 268,546 240,146 28,400
201 ¢4l 23,546 23,546 0
02 =224l 23,546 23,546 0
O1.2Z2IZHA 20,250
222 SIHEE 90,0003 »225H A 20,250
O3. A€ ZHI =Xt 3,296
-BE2YAE SX2el 1,498 x100m «220H 2 3,296
401 Al HI K 201 120,000 77,600 42,400
01 A& HI 120,000 77,600 42,400
OoANg3zY E= 60,000,000 » 14l 60,000
Odlls 422 B 30,000,000& =14 30,000
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Lol= X X

5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Odles 288324 B4 30,000,000 14! 30,000
402 12V XHE0| & 125,000 139,000 A 14,000
01 It E AL EXR (M) 125,000 139,000 A 14,000
oolztasz e 24 100,000, 000& x 14! 100,000
Osoff &EFeeld32g B4 15,000,000 * 1Al 15,000
O RE12BE=Y B 10,000, 000& » 1Al 10,000
A2E 22X |<EX> 300,000 300,000 0
= 30,000
Al 270,000
301 et A= 300,000 300,000 0
=} 30,000
Al 270,000
01 Al E&E A 262 300,000 300,000 0
Oo3Zzd 2H XS 300,000,000& 300,000
& 30,000
Al 270,000
A=Y EEASZHI<KBEX> 200,000 196,424 3,576
& 40,000
Al 160,000
301 LBt A= 200,000 196,424 3,576
== 40,000
Al 160,000
01 Al E & A 462 200,000 196,424 3,576
O3z S8 dz=H| 200,000,000& 200,000
= 40,000
Al 160,000
A2 ZUXQHYH H(F2Y S EIIHYHIXE) 400,000 380,000 20,000
<E x>
= 100,000
== 90,000
Al 210,000
301 LBt A= 400,000 380,000 20,000
= 100,000
= 90,000
Al 210,000
01 Al E & A 462 400,000 380,000 20,000
Odz4Y s&I|Ed| 400,000,000 400,000
= 100,000
= 90,000
Al 210,000
A2 Y ZAXQAMYH 2RI (B2 Y Herd] XR)< 27,000 25,300 1,700
2x>
= 6,750
== 6,075
Al 14,175
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el o= XK (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 27,000 25,300 1,700
= 6,750
< 6,075
Al 14,175
01 MEI2EZE %06z 27,000 25,300 1,700
OZ=2% 4yl 27,000,000& 27,000
= 6,750
< 6,075
Al 14,175
POELHASZ U E ALS<E E> 45,955 45,955 0
< 11,489
Al 34,466
301 et a = 45,955 45,955 0
< 11,489
Al 34,466
01 MEIBEE 263 45,955 45,955 0
ORAEgL0 AASSHE & A2
45,955,000& 45,955
< 11,489
Al 34,466
HHOIS0IRM=Ct 2EXA 10,120 10,020 100
201 L2l 5,000 5,000 0
01 At 22l 5,000 5,000 0
O1.€8t=&H| 1,000
-l X 0IS0IR0=C £H3 BEA WM
2,000& 5005 1,000
O3.2d=¢ 4,000
- 0IS0IR0=E 2A =F
40,0002 1Z 102 108 4,000
301 et d s 5,120 5,020 100
09 HALAHIEA S 5,120 5,020 100
OHsHE 2tA 2,000 90 243 4,320
OZ3ggHEs FAX =4 8,000& x100H 800
FZANEXE<EX> 30,000 0 30,000
= 15,000
Al 15,000
401 AIEHI L 20 21,000 0 21,000
< 10,500
Al 10,500
01 A& HI 21,000 0 21,000
OlolEs tHE3sad=2ed E=
16,000, 000& 14 16,000
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Al 8,000
Og=s gNZE2Y B 5,000,000& 14! 5,000
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402 BI2HX=01 M 9,000 0 9,000
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= 4,500
Al 4,500
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< 799,272
Al 1,076,130
HAR20ts SAKJA<EER> 1,875,402 1,187,803 687,599
< 799,272
Al 1,076,130
301 et A3 1,875,402 1,187,803 687,599
< 799,272
Al 1,076,130
01 MI28E 6= 1,875,402 1,187,803 687,599
OZAOE AN (YSHE F4)
612,000,000 612,000
< 122,400
Al 489,600
OZAOIE SANA(EZEY F4)
646,000,000 646,000
< 646,000
OZAlols AN (XdotsdEHS 24!)
617,402,000 617,402
< 30,872
Al 586,530
MES AL (BBES /BB 2S5 256,526 223,322 33,204
= 10,200
< 11,810
Al 234,516
B82S 2L AT 256,526 223,322 33,204
= 10,200
< 11,810
Al 234,516
B3ESAE 159,623 127,798 31,825
101 @14l 63,539 49,649 13,890
04 JI12ZtHZ22HEE = 63,539 49,649 13,890
OBAMHSLZ HaYY 20, 152
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330 x20,000H *43) 26,400
-OfMSZSHHEXNE s8BEES
150,000& x25H 3,750
O3. A& &H| S XYl 6,000
—SIHIHEEYZ2 DTl X2
500,000& *43| 2,000
-NAHLMQRAX AlIE2 S22
100, 000& 4000 2 4,000
202 04| 3,600 3,600 0
01 2Ll 3,600 3,600 0
O&BESELEF=& H|
60,000& »4H 32 53| 3,600
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A ER4SE
B 42T 2Y U NABMBLSH(SYHSLL/HS 24 - OfE)
H?: -2 2F  dHMHASH (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
NN ZOISAE JIE) =25 BMoE
i 50,000 *20H 1,000
-2 29 JIE ==&l 4,000,000& 4,000
H4SE ZEHTA X 4
400,000& *x6IH 2 *23| 4,800
“HASH £Y2X S AW HX L T
ANE 2tE Wl 500,000 *2JH 24 2 2,000
O4.1T = 4| 4,958
HAERE BIDAE 220 2K
9,000 3 «3H+61L 24 & 3,294
-2 HIOIIEA(YEE) 22N 1=
i 1,664
28= 55,0003 8 »2H & 880
Xt 9,000& x8H *2I4 & 144
e 40,0003 x8H 204 & 640
Ob5.= &l 24,320
“ZHAY HREFE AAAZR2LN =4
8,000& x5 10 128 4,800
“i==& Hito|l2 224 =4 19,520
HECHAI & 8,000 x3H x2A1 x61 2«2 A 5,856
R 8,000 #4H 241 +61 2«20 A 7,808
119 220 8,000 »3Z «2AI %612 «2J4 & 5,856
02 =224l 46,200 32,200 14,000
O1.332LHA 28,600
-l =S STAEA SU AT Yot
ER3 300,000 74 A+ 12 25,200
-2 dliead & M3
100,000 201 2+ 128 2,400
O EFH (A LEHI0) =MANEER
500, 0003 *2CH 1,000
O3. Al ZHl s Xt 10,000
“ofl =2 BHOYANE FANEx
5,000,000 *20H 2~ 10,000
O4. Xt Byl 7,600
-l =S & AYREFU(SALLEH0) KX
2= 2,000, 0003 *2CH 4,000
-+ AQEHOI(ZSAIFH13E) S (EXEXIR
BI) 3,600,000& »14 3,600
202 04 Hl 4,500 3,600 900
01 = LH YI 4,500 3,600 900
OZ ML HR=A Ml
60,0003 *5H x32 «53| 4,500
206 M= Hl 2,800 2,000 800
01 24l 2,800 2,000 800
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2N
X ZH -
L= B

el

o

ol

on
= =

Rt
o o ez
0x 02 19
HO MO &2

02 02

[u]

o i

W

NEEN EFEEICHE TR RSO
AHASH

= - 4 14
S EHE . (BH) - NEAY - BAS %Ei HR=2
Otf£==22 192X MM (REI| 2 58)
1,600,000 1,600
Olx==2% SSXHA LB (AAE 2 48)
400,000 400
(OE3% 2IZ(0d ¥ EE=2)
400,000 2Kl E 800
301 LB At 900 900 0
09 S AFA 900 900 0
OWEM H272gd 24 450,000 *2JH 2 900
401 AlEHIZL 2 0HY| 25,000 33,000 A 8,000
01 Al&H| 25,000 33,000 A 8,000
Ooll == >HEAAE X € B
10,000,000 =1 Al 10,000
Odll %= = &M 10,000,000& » 1Al 10,000
OxE &2 3=l ote=22 AX
5,000,000 =14l 5,000
=22 QIHIRAXRA OIAHH XR<EX> 47,288 47,288 0
=} 9,458
Al 37,830
101 e1214| 47,288 47,288 0
o=} 9,458
Al 37,830
04 J|12tHIZ2 ] 47,288 47,288 0
Odlfz= DEQI(OIAZ2R) 47,288
-l 10,000 2 Al 2t %423 %61 4,880
o= 976
Al 3,904
ARt 2R g
0,000 *150%*10A| 2t x4 x61L 36,600
o= 7,320
Al 29,280
-=5 80,000& »4H 8L 2,560
& 512
Al 2,048
-AEE J|2a82=2 3,248,000 3,248
= 650
Al 2,598
M= 2HIAXR SH| X &<E x> 18,591 18,590 1
& 3,718
Al 14,873
201 et 16,336 15,468 868
& 3,267
Al 13,069
01 AP 2 3,480 3,660 A 180
01.¢ 3,480
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SH: gRMAD
HE: H4SH2Y U NABMEBLS(STHS A /HL2L - OfF)
Sl HASH2Y U AMANHSS CEEEED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
“FHQED0 Asde 252 (NEII)
30,000 *2CH 58! 3,480
& 696
Al 2,784
02 22244l 12,856 11,808 1,048
O3. A& & HI KX HI 7,000
-=AQEHIOl AH ¥ AH
3,500,000 «2LH 7,000
o= 1,400
Al 5,600
O4. XH&H e 5,856
-=AQEHI0 KFEU
1,600& %304 *20H+61L 5,856
o=t 1,171
Al 4,685
206 M = Hl 2,255 3,122 A 867
& 451
Al 1,804
01 X2 H| 2,255 3,122 A\ 867
OHIAXTAY RU(HKEQ 2&) 2,255,000& 2,255
& 451
Al 1,804
=HZEMS UGS sHLSA/=H - =) 3,300,062 4,984,943 A 1,684,881
= 51,736
N 767,000
J| 17,590
& 179,661
Al 2,284,075
SLeESAS A 325,104 352,130 N27,026
= 51,736
J| 17,590
& 11,661
Al 244 117
sIIHAEXN S 197,455 172,970 24,485
201 gEt24Ay| 7,135 6,620 515
01 AP 22| d| 6,104 5,616 488
O1.98t=2H| 3,800
“EIASTE AET Yeragy|
1,800,000 1,800
~SXHSKHASY M4 R0l
100& 4= «5,0000H 2,000
O5.2&4| 2,304
= UREX ALAZLX D4
8,000 x3H 8 x12& 2,304
02 2=2=24%H| 1,031 1,004 27
O1.2Z22=a<LHA 1,031
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AN RS0
HH: AW S SYHS2N/5Y - 58)
Sl SAS A2 ML 2 (S5 &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-—SXOISEAHEAIZL HEXHEZSK SER
= 1,031
©opk 3303 x 15021 33| 149
= 1,960& 15024 x33| 882
202 o4 Hl 1,800 1,800 0
01 = LH 4 Hi 1,800 1,800 0
OsXNOoISAHZA RN 0yl
60,0003 x2H 3 53] 1,800
206 M= Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
Os&Y I 500, 000& »23] 1,000
402 BIZ2HX= 187,520 163,550 23,970
01 BIZ2EA=2 (REXITH &) 187,520 163,550 23,970
OgsLHHMAXNS H SalHE sSLH =43
= 187,520
- = 58,000& +1,465ha 84,970
&2 A 70,000& +1,465ha 102,550
HEQI T X JA<E > 19,500 19,500 0
< 1,500
Al 18,000
402 2I2H X201 M 19,500 19,500 0
< 1,500
Al 18,000
02 QIZI 2 AL EZ (OIS ) 19,500 19,500 0
OUEs=3% 4&EXNE
10,000, 000 *3JH 2 x50/ 100 15,000
< 600
Al 14,400
OUEs=E3% s 4N X
150, 000:& *60ha*50/100 4,500
< 900
Al 3,600
ELNEHSSAE<EE> 61,909 126,470 A 64,561
= 43,336
< 4,086
Al 14,487
402 QI2H X201 M 61,909 126,470 A 64,561
= 43,336
< 4,086
Al 14,487
02 QI 2 A EZ (01X TH ) 61,909 126,470 A 64,561
OELMM(a, H3) 222
61,909,000& » 14! 61,909
= 43,336
S 4,086




A ERAH D
HH: AW S SYHS2N/5Y - 58)
Sl SAS A2 ML 2 (S5 &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 14,487
SsAolE2e X JH<E x> 17,590 17,590 0
J| 17,590
101 Q124 H| 16,390 16,390 0
Jl 16,390
04 JI2ZtHIZ22NEES 16,390 16,390 0
OsXolgael o124l 16,390,000 16,390
J| 16,390
202 044 1,200 1,200 0
J| 1,200
01 2Ll 1,200 1,200 0
OsXols2e|gde2 =X 0| 1,200,000 1,200
J| 1,200
A S obM &Y X |<E x> 7,650 12,000 A4 350
o 2,295
Al 5,355
206 M = Hl 7,650 12,000 A4 350
= 2,295
Al 5,355
01 =4l 7,650 12,000 N4 ,350
O =AY (EHE) A
45 000& *x170M E 7,650
o= 2,295
Al 5,355
SHIHSSHEXNEZX R<EX> 21,000 0 21,000
= 8,400
= 3,780
Al 8,820
206 M = dl 21,000 0 21,000
= 8,400
= 3,780
Al 8,820
01 X2 4| 21,000 0 21,000
OsgYIIH St 2212
100,000 *210M E 21,000
= 8,400
o= 3,780
Al 8,820
SHMAD|IBLE A 2,974,958 4,632,813 A 1,657,855
Xl 767,000
= 168,000
Al 2,039,958
S HMAD|BLX M 1,416,352 1,906, 149 AN489,797
201 et | 46,830 46,470 360
01 AP 2t 2] H| 26,830 26,470 360
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SH GRAAD
HH: AW A SYHSLN/5Y - 58)
© sPMAIIBtEA (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O1.9et==2Hl 9,950
-—SYIIBE R E ALY YB=ZH| 1,800,000 1,800
2R BEHAZE L AASY +48
300,000& x20E Xl 6,000
-SJI0ld =5 70,000& x 152 1,050
B AURF FHAM
110,000 * 1004 2 1,100
Ob5.= &l 2,880
SEQIE ADET AIRADLT 2A
8,000& «3E+x10 128 2,880
O6.8xt=z 14,000
-sI|BAIE HUI(EA SHi+=2)&8 L
500,000 *70H A x4 14,000
02 23224l 20,000 20,000 0
O1.222ILHA 20,000
-=clH 2AE HIIRRS 20,000,000& 20,000
202 o4dl 2,160 2,160 0
01 = LH 4 1l 2,160 2,160 0
Os=sMADIBr =L F=& K]
60,0003 *3H 3 43| 2,160
401 Al HI 2 28I 1,337,362 1,827,519 A 490,157
01 A& HI 1,334,000 1,823,000 A 489,000
O=gIIBtAd HHE S 50,000,000 =14 50,000
Ost==olf CHHl ==clAl&d &l
150,000, 0002 * 14! 150,000
OB L ALS A AIE A
50,000,000& =14 50,000
O=g&8 Ler2d Kot S XA
2,000,000 *312 62,000
OsgE 23 HE2 2 &l
1,000,000& 152 15,000
O==CclH =2lAlE HE=3A
30,000,000& » 14 30,000
OFEX &&1cl =2 EXSAM
50,000,000 =14 50,000
Olls g4l ==& AXZA
92,000,000 » 14 92,000
O2Es s2 & =2 EXSA
20,000,000& » 14! 20,000
Osoll &1l s2 ZHESAM
25,000,000 =14 25,000
Osdl ==dX E&ESA 30,000,000& =14 30,000
OFJl el s2 ZHIA
100,000, 000& * 14 100,000
Os0l= #et2e] =2 EX3A
30,000,000& =14 30,000
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AN RS0
HH: AW A SYHSLN/5Y - 58)
Hel: sgdadgtxyd (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFREXE =32l sASRE FHISA
50,000,000& =14l 50,000
OolY st@el 52 E4TA
40,000,000& =14 40,000
Osofl &dc €82 s2 ZE3AM
50,000,000& =14l 50,000
OFEL 22| Eti+2 ZHSAH(=UH)
20,000,000& =14 20,000
OFIl B&1el =s2MHE ¥ =2 EX3A
50,000,000& =14l 50,000
OFJ| &lel s=2 ZXSM
100,000, 000& 14 100,000
Oy XYl 52 THIA
30,000,000& =14 30,000
Odg gdel =2 ZFSA
30,000,000& =14 30,000
OFI L5112l s=2 EXSM
30,000,000& =14 30,000
OFJI| &iHel s2 ZFSAM
30,000,000& =14 30,000
OFJI| &2l s2 ZFSAM
20,000,000& =14 20,000
OFJ| &gl 3LE =2 EZEIA
70,000,000& =14 70,000
OFJ +=4del s+=2 ZEXSM
40,000,000& * 14 40,000
O 223Fcl s2 ZHESA
30,000,000& =14 30,000
O2d Z2de| s2 ZHIA
20,000,000& =14 20,000
O2d &Alel s=2 ZFHISAM
20,000,000& =14 20,000
03 Al 2 THHI 3,362 4,519 A1,157
OIS HAE AIZRUHI
1,334,000, 000 *0.36/100%70%<& 2> 3,362
403 MHXSHHSA=0l& 30,000 30,000 0
02 I 2S0tHet A=A 2 & Ar 30,000 30,000 0
OgY 22M=X E=3A 30,000,000& *14! 30,000
CAMEHHANL (sE=HESHFFH )<KBE> 1,097,472 984,576 112,896
Xl 767,000
Al 330,472
401 Al HIZ 201 Y] 1,097,472 984,576 112,896
Xl 767,000
Al 330,472
01 A& HI 1,095,500 976,500 119,000
OS50 sEH2EATHIAY
1,095,500, 000& 14 1,095,500
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A ERAH D
HH: AW A SYHSLN/5Y - 58)
Sl S MADIBEY CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 767,000
Al 328,500
03 AlE 21| 1,972 3,076 A 1,104
OsEMBIFYAL AL
1,095,500, 000 *0.36/100%50%<& 2> 1,972
FO =2 AHAMAD|BFEHI<E X> 240,864 381,368 A 140,504
= 120,000
Al 120,864
401 AIEHI 2L 2 0HY| 240,864 381,368 A 140,504
= 120,000
Al 120,864
01 Al&H| 240,000 380,000 A 140,000
O%Y RU2 52 THIA
100,000,000 =14l 100,000
& 50,000
Al 50,000
OolY ZZel ABX 42 ZUISA
72,000,000 = 14! 72,000
&< 36,000
Al 36,000
Oltis HS32 BHH+2 SXIBA
48,000,000 =14l 48,000
= 24,000
Al 24,000
02 242 52 ZHBA
20,000,000 = 14! 20,000
& 10,000
Al 10,000
03 AlE 201 864 1,368 A B04
OsSMAD|BFEHIALY A& 20|
240,000,000 x0.72/100%50%< & 2+> 864
Mol =S Ald ZHI<E x> 60,270 200,720 A 140,450
& 18,000
Al 42,270
401 A& HI L 20l 60,270 200,720 140,450
< 18,000
Al 42,270
01 Al&H| 60,000 200,000 A 140,000
O tH2el Mool =5 £=clAlE AHIA
& 60,000,000& = 14! 60,000
& 18,000
Al 42,000
03 Al 20| 270 720 AN 450
O tH2el THolloley =5 £=clAlE HHIA
& A2 270
60,000,000& *0.9/100%50%< & 2+>
EUALI|HHI<E E> 90,000 80,000 10,000
= 9,000
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oA D
SUAMW Y (SYHLLL
S0 M A BHE A

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

Al

81,000

401 AIEHIZ 2 THHI

= M

90,000

9,000
81,000

80,000

10,000

01 A& Hl

o3 & 2=J|

90,000,000% *14!

f

Al

90,000

90,000

9,000
81,000

80,000

10,000

Na=XMEHH<2 x>

Al

20,000

6,000
14,000

20,000

401 AIEBIZ S CHYI

H

Al

20,000

6,000
14,000

20,000

01 A€ HI

oUW M=Xl Mg FHl

20,000,000 =14l

= i

20,000
20,000

6,000
14,000

20,000

A d=XFHI<E x>

H

Al

50,000

156,000
35,000

1,060,000

21,010,000

403 AXIHHSH=0lA

H

Al

50,000

15,000
35,000

1,060,000

21,010,000

= i1

50,000

50,000

15,000
35,000

1,060,000

1,010,000

M=

Al

4,296,642
261,364
42,420
209,221
3,783,637

3,794,684

501,958

[P
o
>
{0
s}
o

ZHh Ay

652,842
99,714
42,420
39,212

471,496

528,447

124,395

AETHE R A

el

|

0

247,708

236,273

11,435

101 Q124 H]

45,812

38,121

7,691

0402t 22 HsSE+
o4& sXA4 2el
-JleEs

=l =]

AnEE JERe3

EXel

60,2403 x8H 60

28,915,200& *11.5%

45,812
32,242
28,916

3,326

38,121

7,691
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SH GRAAD
HE: QAW S SYHS /LY - 4E)
SR AL KR 22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OsdidEdMs2d(=sag)2e 13,570
-Jl2= 60,2403 *2H 20! x4 & 9,639
-5 60,240& x2H 173 2,049
st 60,240& x2H x4 482
-AEE J|&a8g=2 12,168,480& *11.5% 1,400
201 YEr2 Y| 17,540 15,416 2,124
01 AFR2t2l Yl 7,680 5,556 2,124
O1.28t=2H| 1,800
-=XN&8H JlEtx=ZH| 1,800,000& 1,800
O5.2 &l 2,880
—AMEXE SREFE AUAZ 2 24
8,000 x3H*x10Y x12& 2,880
O6.9xtz 3,000
- FHHl Ul YXt 500,000& *2CH *33] 3,000
02 33249l 9,860 9,860 0
O1.23224HA 2,880
-—SHMENESE SSFEL L s H
ea2 200,000& ~12& 2,400
-HEICE2S3R Bots MIIe3
40,0002 x12& 480
O3. A& &Hl s Xl 6,980
~TAISSAIE S22 EH RS
1,600 *7004 *4CH 4,480
~TASSAIE S22 & A
100, 000& *5& x53] 2,500
202 4] 2,700 1,080 1,620
01 2LHOHI 2,700 1,080 1,620
O2AF A A=A (]
60,000& *3H 3 x53] 2,700
206 T 2 bl 19,800 19,800 0
01 X2 bl 19,800 19,800 0
OJtz2s=E 2el X 7,200
-XEE 20,000& =80 m’ 1,600
& 10,000 400 4,000
-Hl = 8,000 x200 & 1,600
OJl2std & 4 HlsdME A 2,600
-a S 5,000& x1004 *23] 1,000
-a 2 8,000& x 1008 *23] 1,600
O=2cd Alllg 22((8=2F, 28)
2,000& *5,000= 10,000
301 AP B A 1,280 1,280 0
11 IIEtE A2 1,280 1,280 0
O=sXAd 2eld FFHI 1,600& *404 =20 1,280
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2N
X ZH -
L= B

el

oA D
AAAM Ao (SYHLLL/YY - 4E)
NEPE

SA B ER(EN) - AR - BES of & o4 San HIDZ2
401 AIEBI L 2CHEI 160,576 160,576 0
01 A& dl 160,000 160,000 0
L FH SHIOIALY 30,000,000& » 14! 30,000
Ok=z4¥ - s 70,000,0003 »14] 70,000
OASE HAANEES B3 A
10,000,000& * 14| 10,000
OS% SIAE =2EE AL
10,000,000& * 14| 10,000
OS88 =XANE ZZ42 BHAY
10,000,000& * 14| 10,000
OZ& =X AE bl 30,000,000& » 14| 30,000
03 Al 2 THHI 576 576 0
O=sXZ=ZAe AU
160,000,000 *0.72/100%50%< & 2> 576
24 2tel 125,861 0 125,861
101 @124 H] 30,497 0 30,497
04 DIt 22 XS+ 30,497 0 30,497
OJz =+ 2el 30,497
-Jl=s 60,2403 x2H «202 «9 & 21,687
-5+ 60,240 x2H 38 4,579
BN E= I S 60,2403 x2H «9 L 1,085
-AHEE JI2RE3 27,348,960& x11.5% 3,146
201 fEt2E | 6,960 0 6,960
01 AtR 22l | 5,500 0 5,500
O1.&et=3Hl 1,000
-JtEs2tel 2et=E4| 1,000, 000& 1,000
O06.8x=2 4,500
-Jt2+ dHl € 234 gx
500,000& 32! *32 4,500
02 s5=9Hl 1,460 0 1,460
O3. Al € ZHl =Xt 1,460
-t2eRA 2 HH 2FUH 1,060
e 1,600& %3002 *2CH 960
ulp == 5,000& 10¢ *2CH 100
g2 A2e dd+d
100, 0003 »2CH »23] 400
206 TH 2 HI 6,500 0 6,500
01 M= Hl 6,500 0 6,500
Otz X 22l AN 5,500
-XF== 21,500& x100& 2,150
-2l X (3 H 2I38) 10,0003 *4Z x50 4 2,000
-HI2(SI1EHE, 22H) 27,0003 x50 1,350
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AN RS0
HE: QAW S SYHS /LY - 4E)
el s xR EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OJz+ HolSLHE 2 25,0003 x40 1,000
401 Al HIZ 201 8] 80,504 0 80,504
01 A& HI 80,000 0 80,000
OJtz+ RA2el & 24 80,000,000 14! 80,000
03 Al 2 THHI 504 0 504
OJz+ SR el AIZR0b
80,000,000% *0.90/100*70%<Z& 2> 504
405 XHobF S HI 1,400 0 1,400
01 AL ESFH S 1,400 0 1,400
OA&E 700,000& =204 1,400
SN IFRI (XX SHH X2 )<E 2> 40,234 69,509 N29,275
= 20,467
< 5,931
Al 13,836
101 1244 Hl 36,338 62,315 A25,977
= 18,169
< 5,450
Al 12,719
04 D12t Z2XEES 36,338 62,315 A25,977
OMBHIOIQIALTEE o2y
15,482,000 15,482
= 7,741
< 2,322
Al 5,419
O=0t31I| RHEAZAE o12¢ 16,928,000& 16,928
= 8,464
< 2,539
Al 5,925
C4liEd JIA2RES 32,410,000& *11.5% 3,728
= 1,864
< 559
Al 1,305
O{HHIOIQHA &S TSH (HY=S228)
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4,810,000 « 1Al 4,810
= 1,924
= 866
Al 2,020
ASIMHIAZ0F 13 FH| (2H])<EB x> 25,026 11,920 13,106
= 25,026
301 et A= 25,026 11,920 13,106
= 25,026
0B AISIEL22IL A= 25,026 11,920 13, 106
OMIIESRRA 29 4.171,000& »6H 25,026
= 25,026
| SEs A2 768,647 404,899 363,748
101 e1214| 160,433 103, 245 57,188
04 JI2tHI22XNSEES 160,433 103,245 57,188
OS2 (NE , =2 X2e & sHAQ|
3t) (BHB5AI 0] &) 81,677
-Jl=3 60,2403 x4 »20L 128 57,831
-F=544 60,2409 x4 X x52 12,530
-AXRssIIY 60,240 x4 x12 2,892
-AEE J|2a82=2 73,251,840 *11.5% 8,424
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gRag
SloZ M 2B (EUNLSA/AY - ME)
MULSSH F:EE)
A B O9(SA) - NRANY - BES il 2
O58 = ZAI2 (255401 4H) 20,420
-JlEs 60,2403 x 12202« 128 14,458
= 60,2403 1 »52= 3,133
-gRaERIGt=E 60,2403 x1H »12& 723
A2 J&22RE3 18,312,960& *11.5% 2,106
OFEs NREE=22& 6,786
-Jles 60,2403 «1H 202 x4 & 4,820
=524 60,2403 x1E » 17 1,025
-ERESRIt=E 60,2403 »1H x4 241
-AHEE J1&22Y3 6,084,240 *11.5% 700
o=l 150
-z 25,000 x6H 150
Os:&E sZFH(=oYRtel &F) 51,400
-Jl=s 270,000& 20 «9 & 48,600
-2 & 203l 140,000& 20H 2,800
201 Let24d] 120,600 79,700
01 At 22l 33,700 21,400
O1.eet=2Hl 30,400
-S8HIoHAel 22,400
T SEHOHE JIE=EYI 1,000, 000& 1,000
© SEHOH HASHH
1,700,000& »123] 20,400
© SEHOHE oIE2UHEES ME
1,000, 000& 1,000
-ARE R A2 8,000
T ANsEsXZel €8t+=2Hdl 1,000,000& 1,000
TARE SEME Y MEMY S
400,000& x10A 4,000
otHlEE2E M 1,000,000& 1,000
SCs58 24EII=E Mel
50,000& *40& 2,000
Oe6. 21z 3,300
-ARE 2573 2Rz
550,000& *2CH 33 3,300
02 =224l 86,900 58,300
O1.2Z22SZHA 71,400
-SEHI0HAel 60,000
=ZAN4E &IIe=s 2,000,000 «6& 12,000
=3ANE &5 23 5,000,000&+6& 30,000
II2E, I3t I3
1,500,000& 12 18,000
“HHEEE MRS 50,000& 128 600
-2E3EA M3 200,000& 128 2,400
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AN RS0
HE: QAW S SYHS /LY - 4E)
ool MERERY EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-SSR, S+U dotxk AEB
700,000& 123 8,400
O3. A€ ZHI =Xt 15,500
-SEHOHe =38AIE |22
5,000,000& 5,000
-58 23S sA22 100,000& 754 7,500
-58 HoYAEdE mX2a 3,000,000& 3,000
206 M= Hl 12,522 9,504 3,018
01 =4l 12,522 9,504 3,018
OANmEEsZeld S7U
1,600 44 »1H*80 512
Os&ksd RA2el NH 1,000, 000& *43] 4,000
OFEM=E 3,200& *800% 2,560
Oolls =228 XM 4,700
-gHoll s M 400,000 x3E * 18t A 1,200
-2 AHES H2(EL, SHAH)
25,0002 x2E+50= 2,500
-hEs & =SSN M 1,000,000 =14l 1,000
O&gHIOtHe A=%S 150,000& »58f A 750
301 et d = 400 350 50
09 SALAHIEA S 400 350 50
O&XI&Eat AW 44X 4 8,000& 50 400
401 Al HIZ 2018 471,692 250,900 220,792
01 A& HI 470,000 250,000 220,000
SEs58 s g2
120,000, 000& 14! 120,000
OFJl &=l AIRXN R2HER EA
150,000, 000& 14! 150,000
OXS2 SN ot =M= =4
50,000,000 » 14l 50,000
OsEH O AHe =Z2ESAE &X
150,000, 000& 14! 150,000
03 Al = THHI 1,692 900 792
OANsE SAH2AIE Ad20HY]
470,000,000& *0.72/10050%< & 2> 1,692
405 RHoHE S HI 3,000 0 3,000
01 AL EZFH S 3,000 0 3,000
OSEHOtHel =& A0 3,000,000 =1CH 3,000
HAE2AZH (&7 &) (IIEH/IIEH 85,792 65,270 20,522
JlE3l 85,792 65,270 20,522
FAH2EH 6,592 4,970 1,622
201 -4 6,592 4,970 1,622
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SH: gRMAD
M HHE2FAH(Z7 &-F ) (IIEH/IIEH
& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 6,592 4,970 1,622
ORM2Y Let=EHl 3,640,000 3,640
ORN2YE =&l 1,368,000 1,368
OSA gtz 132,000 = 1CH =123 1,584
AR FE N 75,600 56,100 19,500
202 o4dl 75,600 56,100 19,500
01 = LH o4 1l 75,600 56,100 19,500
OFYSPFAAHE 20,0008 20F«152 122 72,000
O&EHEZRX0E 20,0002 20H «3 »3& 3,600
2R =&l 3,600 4,200 A 600
203 YR =&l 3,600 4,200 A 600
04 FN2ELRZ=TH| 3,600 4,200 A 600
ORMSYYLETY (R :19)
300,000& 122 3,600
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N = 0l & At & M A
2018 = =0l & LEEA SR AEY ~ G2

2N HPALDED

Hu: CRAME Bel(+EY

4
=)
S
O
H
HU

S TZ2AEES |2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
gRAd&8nsn 7,864,882 8,170,480 305,598
= 2,020
Xl 893,000
= 701,828
Al 6,268,034
CEANEE Zel(=ELNE/ER) 4,297,876 4,301,730 A 3,854
< 625,000
Al 3,672,876
SC2ANEE A2 4,297,876 4,301,730 A 3,854
= 625,000
Al 3,672,876
Sz ae 1,470,811 2,558,827 A 1,088,016
101 @124l 2,016 1,732 284
04 J12ZtHZ22 s+ 2,016 1,732 284
OE2 NEHEXITA 2,016
-Jla=a 60,2403 x2F 32«54 & 1,808
-AHEE JI2RE3 1,808,000& *11.5% 208
201 L2 | 101,540 106,030 N 4,490
01 At 22/l 72,208 69,498 2,710
O1.get=2H| 16,500
-“CAAXNSYR JlE =S 2,200,000 2,200
RIS HR JIE =2 2,300,000& 2,300
-EEA 2 LAAIE ALY 2
1,000, 000& 1,000
-ES4AE dAEA FHY 3,000,000& 3,000
“HOIZ2 =2 8,000
HOIAEE 4,000,000& 4,000
CHEIeE 4,000,000& 4,000
O4.101 =l 260
-E22e 2HE 28RS 130, 000& »2H 260
O5.2&Hl 17,648
A HRFA AIZA2R2X 24
8,000& x3H 10 128 2,880
-Tzae HRFA ALAZI2X 24
8,000 x8H x8U x 128 6,144
SDEIE O AZA22T SA
8,000 «6H 42 «12& 2,304
“HEEY AIZA2R2X 24
8,000& x10H x3 38 720
-Es4EAE =4 8,000& x20H 35! 5,600
O6.2xt=z 37,800
2SEE2=23H =
600, 000& *3CH *203] 36,000
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2N HPALDED

M CRANES 2e(+SLUWE/E2)

S TZ2AEES |2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-“CAARXE2 EAEH Xz
450,000& »2CH 23] 1,800
02 =224l 29,332 36,532 AT,200
O1.223LAHA 7,200
STRR4 NYUE RMENY 2B23
50,000 =40 =122 2,400
c2 2 MEmH D 223
400,000 x12& 4,800
O3. A& EHl s Xt 13,500
s HEEY 2 3F s
8,500,000 8,500
-HEEH(SHsS L&) |2
5,000,000& 5,000
O4. Xt & el 8,632
-st2(HE) 7,432,000 = 1CH 7,432
-HEEE Olsal S| sl L A
600,000& »23] 1,200
202 04l 5,040 5,040 0
01 = LH Yl 5,040 5,040 0
OALSHAD = 0fY|
60,0003 *3H 32 43| 2,160
Oz zelg: F=An
60,0003 *8H x32 +23| 2,880
206 = Hl 102,000 102,000 0
01 M2 4l 102,000 102,000 0
OE2ER YA 2,000,000& 2,000
OLZANEE B+AH 100,000, 000& 100,000
301 et a3z 58,055 41,236 16,819
0B M ELRIBAS 58,055 41,236 16,819
OMIIELIA(NRE L FMAT) 58,055
-Jl=s 366,229 x8H x 128 35,158
-S4l 7,0003 «8H 22U 128 14,784
nE=g:] 2,6003 x8H 22U x12& 5,492
-l =l 327,600 »8H 2,621
401 AIEHIZ 28I 1,202,160 2,302,789 A 1,100,629
01 A& Hl 1,200,000 2,297,000 A 1,097,000
OANINEZ SXNE= 700,000,000 =14l 700,000
Ol &= FHl 100,000, 000& * 14 100,000
OZUW T2 F I X NS A
100,000,000 * 14! 100,000
Oz RaEcdI XLl EX3A
50,000,000& =14l 50,000
O2d 2H9, 112l TAAHEEZ INRI|SA
50,000,000& =14l 50,000
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SN @RALE NS

HHM: T2AEE 22l (52

PUNE/EZ)

OF

Eel: S 2AEE A2 (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O2d EHe| TAHEEZ TMRISA
30,000,000& =14l 30,000
Odles == HHIZSA 40,000,000 *14) 40,000
Os&ks =4 HHSA
100,000, 000& 14! 100,000
OFgs F&FelX7 T2 HH A
30,000,000 » 14! 30,000
03 Al =TI 2,160 5,789 A 3,629
OEZAEE HX 22 A2
1,200,000, 000& *0.36/100%50%< & 2t > 2,160
TZANEE FR22U<ER> 1,287,313 271,361 1,015,952
< 625,000
Al 662,313
401 Al B2 28I 1,287,313 271,361 1,015,952
< 625,000
Al 662,313
01 A& HI 1,285,000 270,000 1,015,000
OUFMG-BRFA C2TF U ATHUSA
200,000,000 » 14! 200,000
< 100,000
Al 100,000
Os38 &2 0tA2 IMRI| 3 A
400,000,000 » 14! 400,000
< 200,000
Al 200,000
OEXADUZ L& == HUISA
320,000,000 =14 320,000
< 160,000
Al 160,000
O2Eg 24l ZAHEEZ OtA2 MR
A 300,000,000 =14 300,000
< 150,000
Al 150,000
OodE FLe(RINA) d=Ee HUIZA
65,000,000 » 14! 65,000
< 15,000
Al 50,000
03 A& =2 THHI 2,313 1,361 952
OEZAEE HX 22 ALE20UYI
1,285,000, 000 *0.36/100%50%< & 2> 2,313
A& sS2ztel 1,539,752 1,471,542 68,210
101 14l 16,928 14,545 2,383
4 D12t ZE2EXNEES 16,928 14,545 2,383
OE2EE JREX 16,928
-Jlg=s 60,2403 x2H x20 L «5& 12,048
-=E5=g 60,240 x2H x21=F 2,531
—ANRSFIE 60,2402 »2H x5 603
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2N HPALDED

M CRANES 2e(+SLUWE/E2)

2 TZ2ANEE A2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
-AEE J|2a82=2 15,180,480 *11.5% 1,746
201 et Y| 35,072 35, 186 A 114
01 AP 2t 2] d| 11,127 11,376 A 249
Ol.ger+gt| 5,823
-AESEE 6R Ye4gH 2,000,000 2,000
HEMNAE U A Eeaaz
1,000,000 1,000
B2l XotE & MAZXGIE MIIAIE ofN
Z2elidE=e= 117,600 «2 1 A~ x 122 2,823
O5. 84| 2,304
“ANAES2ALYGRFA A2UAZL2X S 4!
8,000 x3H 8L x12& 2,304
O6.Y X2 3,000
“HHEKIGHE ¥ M4EXGE FEAIH YR
= 1,500, 000& =2CH *13] 3,000
02 Z2=2=24%4| 23,945 23,810 135
O1.2Z22=a<L Al 23,945
-C2iEE2 DN 28 2E= 4,745
° Sl 1,960 *2,000= 3,920
bt 330) *2,500= 825
-2l Kote & ASZXotE JIA dII2
800,000 20 A~ x12& 19,200
202 o4 | 1,080 1,440 A 360
01 2L I 1,080 1,440 A 360
OANES2el Zg2F&8 gl
60,000 *3H x3 x23| 1,080
401 AIEHIZ 201 Y| 1,486,672 1,420,371 66,301
01 Al&H| 1,484,000 1,416,800 67,200
OBotE (SXH)SXE % 230,000,000 » 1Al 230,000
Oz HI)IEH 849 15,000, 000& *23| 30,000
O2tH g A2 200,000,000 « 1Al 200,000
O8%n 39z 4A 30,000,000& =14l 30,000
Ofdn UM A 130,000, 000& * 1Al 130,000
OLXSZHE2 WS HUOHM Kl
140,000,000 =14l 140,000
OMEMEY dLotME XS 120,000,000 «1A! 120,000
Odet20e dYUotM A 204,000,000 «14! 204,000
OHHAE D B2 At 300,000,000 1Al 300,000
Oeledn B2 At 100,000,000 =14l 100,000
03 AlE 201 Y| 2,672 3,571 A 899
OAEZE X2l AIE20U]
1,484,000, 0002 *0.36/100%50%<& 2> 2,672
THEETHOH Ol 2H (222 ML O /T LHEERY - BIEER]) 2,983,082 3,327,913 N 344,831
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2N

X ZH
S =

el

AL
© X EHTH off

A 2o

mE=N,
HE(SSEMLHN/THLT - 212he])

XopH

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,020
Xl 893,000
= 30,828
Al 2,057,234
~a=Eukd PP Kl 2,942,355 3,291,501 A 349,146
Xl 893,000
= 25,000
Al 2,024,355
Aot EHI 1,075,726 962,238 113,488
201 ¢et24] 920 866 54
02 =224l 920 866 54
O1.332=ZLHA 920
-A0E BET XN LEERZ 920
© Sl 1,960& 20024 392
2Bt 330& x1,600H 528
202 4 tl 2,880 2,160 720
01 = LH 4 Hi 2,880 2,160 720
OMt2el d2us & M2 gRF=E ol
60,0003 *4H 32 43| 2,880
401 AIEHI L 20 1,071,926 959,212 12,714
01 A& tl 1,070,000 955,000 115,000
Og= S8 ZHMdH A8 40,000,000 x14) 40,000
Ozt 4A0td AIdE2 |RXNE=S
50,000,000 =14l 50,000
O=REXZ A1l SE& HHISA
50,000,000& =14l 50,000
O2d &He| M B3 A
50,000,000& =14l 50,000
OUs el A0tE FUHISA
50,000,000& =14 50,000
Osoll &A=& S HHIZSA
60,000,000& =14l 60,000
OFJl m=Z=2& HHIZA 100,000,000 » 14 100,000
O=0lx= ZAtel S MY SA
100,000, 000& 14! 100,000
OFJl SUcl ALAIERZ X SO HHISAH(FE
Hiet) 30,000,000 =14 30,000
Oy stde| Aotd ZHIBA
50,000,000& =14 50,000
Osoll &&F2el A0t HUISA
50,000,000 =14 50,000
OFJl =23cl =23d = HUISAM
100,000, 000& 14! 100,000
OFELZ =32l =& MY SA
50,000,000& =14 50,000
OgY RRHA ZFHISA 30,000,000& =14 30,000
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SN GPALDED
A U AL (BBENLOE /T LT - 01)

el M XINA (ol m2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSofl Ydicl =s49d St FHISA
30,000,000& =14l 30,000
O&J| #&Xi2el Lotd s FHISAH(FCIA et
) 100,000, 000& 14 100,000
OREXE Hx2e SXd MYSA
50,000,000& =14l 50,000
OFEXZ dtZ1el =& MY SA
50,000,000& =14l 50,000
O¢Y &std S HHI S A
30,000,000& =14 30,000
03 AlE 2 THHI 1,926 4,212 A2,286
OA6t& HbEl AIE=20Ubl
1,070,000, 000& *0.36/100%50%< & 2+ > 1,926
ACHEEH (M &)< x> 1,789,215 2,201,957 AN412,742
Xl 893,000
Al 896,215
401 Al HIZ 201 I 1,789,215 2,201,957 AN412,742
Xl 893,000
Al 896,215
01 A& HI 1,786,000 2,198,000 A 412,000
ous =& FUHISA  1,586,000,000& 14 1,586,000
Xl 793,000
Al 793,000
Oy 8id™ HHIS At 200,000,000 =14 200,000
X 100,000
Al 100,000
03 AIE 2 THHI 3,215 3,957 AT42
OASHEZIHI(ME) A2
1,786,000, 000& *0.36/100%50%< & 2> 3,215
of & KH off Oif & 27,144 26,856 288
201 Let24d] 15,144 14,856 288
01 At 22/l 10,904 10,616 288
O1.det==&Hl 3,600
-Xl== & THoHOH ALY DJIEt==EH|
3,600,000& 3,600
O5.2 &l 2,304
T HRFA AIZAZRI =S4
8,000 x3H 8L «12& 2,304
O6.8xt=z 5,000
-MoHHHESSEHH X2
500,000& *2CH 5 5,000
02 =224l 4,240 4,240 0
O3. A€ ZHI =Xt 4,240
-2==J| |2l 100,000& »20CH 2,000
-2==J| |FFH 1,600 204 *35CH*23l 2,240




2N HPALDED
M LN (RREMUE /TS - 2

S dEsoll X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
206 M= Hl 12,000 12,000 0
01 =8l 12,000 12,000 0
O==YXMH 12,000, 0002 14! 12,000
AHOt THoff Ol & <2 &> 50,270 100,450 A 50,180
= 25,000
Al 25,270
401 Al HIZ 2018 50,270 100,450 A 50,180
= 25,000
Al 25,270
01 A& HI 50,000 100,000 A 50,000
Oy =9%e| 40td HUISA
50,000,000 » 14l 50,000
< 25,000
Al 25,000
03 AlE S THHI 270 450 A 180
OgY =gl Aotd HUIZS A AIZRUHI
50,000,000% *1.08/100x50%<& 2> 270
Dl o LHSHH 2= 40,727 36,412 4,315
= 2,020
< 5,828
Al 32,879
QR ny ¥ =4 17,472 9,420 8,052
201 LBt2d| 5,940 5,620 320
01 At 2t 2l 5,940 5,620 320
O1.Ler==&H| 3,380
-SXds S X
1,000,000 104 & 1,000
-SXds =2 M 580
= 300, 0002 =14 300
T =¥ 70,0003 =44 280
-l AT MEH 80& =10,0000H 800
AL 2INE 7 10,0002 1005 1,000
O5.2&Hl 2,560
-—SXNds SEAEA I AANENM 22X S
A 8,000& 80 *43| 2,560
301 LEtE A= 11,532 3,800 7,732
0B M ERRIABHS 11,532 3,800 7,732
OMI=ELR MHEE S 50,000& *x60H 3,000
OAN =22 S2R7E us FAI 244
2,000& 100 #4 3] 800
OMIAZRRA B4 7,732
-JleEs 405,669 x1H «12& 4,869
-S4l 7,0003 x1H 22U« 128 1,848
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2N

gRALunsH

FH: NN (SSEM L /TS - 2129])
ool olwsl W HSHN 7 )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- SH 2,600 «1H»222 «12& 687
- =l 327,600& x1H 328
=0 & X A0l sXNA<E > 5,422 4,659 763
< 1,084
Al 4,338
101 @124 4] 5,422 4,659 763
< 1,084
Al 4,338
04 JIZHHZ2Z2XNSE S 5,422 4,659 763
O2s0l ¢t XZ0 Al
60,2403 1 +90L 14 & 5,422
< 1,084
Al 4,338
S0 AHAIE EX<EER> 5,600 9,333 A3,733
< 1,680
Al 3,920
201 Let249] 5,600 9,333 A3,733
= 1,680
Al 3,920
01 At 22l 5,600 9,333 A3,733
O1.eet=2H| 5,600
=50 AHAE BEE5H2L 5,600,000 5,600
< 1,680
Al 3,920
DlguSsHLA=H<EE> 5,500 5,500 0
< 1,650
Al 3,850
201 Let24d] 5,500 5,500 0
< 1,650
Al 3,850
01 At 2teltl 5,500 5,500 0
O3.2d=¢ 5,500
Qg uEssEEd A 100,000& x55H 5,500
< 1,650
Al 3,850
QN E2AH<EXR> 6,733 7,500 AT67
= 2,020
< 1,414
Al 3,299
201 Let24E] 6,733 7,500 ANT67
= 2,020
< 1,414
Al 3,299
01 At 22l 6,733 7,500 AT67
O3.2d=¢ 6,733
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2N HPALDED

B O HHO S (BBEM L /ST - 29
S e 2 HEMA 2= (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-0lghe ot s A=Y 6,733,000 6,733
= 2,020
< 1,414
Al 3,299
2 RAE 0 S W) (IJIEHIIEL) 583,924 540,837 43,087
= 46,000
Al 537,924
A2l 496,872 469,493 27,379
< 46,000
Al 450,872
AFA2AH 53,704 48,150 5,554
101 124 dl 53,704 48,150 5,554
02 JIEtE B == 53,704 48,150 5,554
OANZHEHAINM('OH' S =B ES) 52,868
- 21,473,000 »2H x32/40 34,357
-2 g 8, 1173 2 10A| 2t+ 128 1,949
b s 2,640
b < Xt 40,0003 x2H 128 960
JIE IS 20,0003 x2H 128 480
AT Ol & XA 100,000 x1H x12& 1,200
s R=gea] 125,000& 2% 128 x32/40 2,400
- A G A 130,000& x2H x12& 3,120
-Urasyl 50,000 x2H 128 x32/40 960
SR 69,760 x2H 128 1,675
-2 &I
15,946,500 2% x1/12%84%*86%+*1/30%1/6. 4 960
96 Al 2t
-AHEE JI2RE3 48,061,000 x10% 4,807
OSgHLFAC=S AJGERHYIIH IS8l 836
-28= 130,000 »2H »23| 520
-gets 110,000& »2H 220
-2 Xt 8,000& »2H 16
-Ctot 40,0003 »x2H 80
2AHeE2A| 443,168 421,343 21,825
< 46,000
Al 397,168
101 124 dl 443,168 421,343 21,825
< 46,000
Al 397,168
03 RIAHAZZ2TE = 443,168 421,343 21,825
Okz&E=x¥ 436,513
-Jles 1,428,300& x11H «x12& 188,536
< 46,000
Al 142,536
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SA: HTALDED
H: HH2IAH(ZRALE R SD)(IIEHIIE
Helr g2
S BB (BA) - MRAY - BYS il
G 1,428,300% *11H x450% 70,701
-EE SOt 1,428,300& 11 x120% 18,854
-Gt 75,6603 x 11«20 16,646
-Ag+g 40,0003 x 112 «12& 5,280
-EE 80,000 x11H «12& 10,560
- HZ A 130,000 11E «12& 17,160
-2 50 sS 42,7303 x 11« 128 5,641
-d32+g 1,428,300 112 x35%+23] 10,998
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